DW 5000 SINGLE PEDAL

g o o o oo oo o e o o o o o o

SP1202

o o @) o

H
H
[
H
H
H
H
H
B
H
H
H
B

SPO10

Séé;%i><iiijqiib

SP906  SP092

SP902

Q=
o %SM705

L=
SM705%" &M70°
&E5M705

SP701 5

SP701g £SP701



DW 5000 SINGLE PEDAL

Part Number

Description

DWSPO010 3/4" OD PRECISION BEARING

DWSP012 SCREW W/ COLLAR FOR 9000 STRAP .472" LNG
DWSPO016 ROCKER HUB

DWSP017S TURBO SCREW W/ SQUARE HEAD

DWSP021 10-32 X 1.95 SPRING SCREW, 5K & 9K PEDAL
DWSM020 SPRING W/FELT INSERT

DWSP023 SPRING HEX LOCK NUT FOR #21 SPRING SCREW
DWSM025 STANDARD SPRING ASSEMBLY

DWSM028 1/4-20X9/16 INCH DRUM KEY SCREW (4 PACK)
DWSM029 3/8" DRUM KEY SCREW (4 PACK)

DWSP031 PEDAL SPUR ONLY, KNURLED, 5K/9K/BOA
DWSP032 WING SCREW, TOE CLAMP BLOCK 5/16-18 X 1"
DWSP037 SPRING ONLY FOR DWSP036 PEDAL SPUR
DWSP038 BASE CASTING FOR 5000 SERIES PEDALS
DWSP045 CAM CASTING FOR #046 NYLON STRAP W/ SCREWS
DWSP50P PEDAL PLATE W/ DUAL ADJ. HOOP CLAMP
DWSP0O61 SQUARE NUT, 1/4-20 5000 TOE/9000 CAM/BOA
DWSM062 TOE CLAMP SCREW

DWSP068 TOE CLAMP W/ NO HOLE

DWSP082 10-32 KNURLED STEP NUT FOR SPRING SCREW
DWSP083 SPRING FOR TOE CLAMP SCREW

DWSP092 BUSHING 3/4" FOR 5000 PEDALS, ONE BEVEL
DWSM101 TWO WAY BEATER - SMART PACK

DWSP108 KNURLED NUT (NO STEP) 1/4-20 (TOE CLAMP)
DWSP214 7/8" OUTER BUSHING FOR HEX SHAFT
DWSP700 SCREW, NUT & WASHERS BASE CASTNG 2 PACK
DWSP701 BACK HEEL SCREW (2 PACK)

DWSP704 SCREW AND NUT FOR PEDAL CHAIN

DWSM705 SCREW & WASHER FOR HINGE (4 PACK)
DWSP708 LOCK WASHER FOR #232 HEX SHAFT
DWSP711 SOC SCREW (BASE CASTING BUSH)
DWSM801-2 DW STANDARD STEEL DRUM KEY

DWSP902 SCREW FOR BASEPLATE

DWSP906 HEX NUT FOR HEX SHAFT

DWSP995 RED 5000 PEDAL HEX SHAFT, ALUMINUM
DWSP997 TOE CLAMP BLOCK ASS

DWSP1000 PLASTIC MOLDED PEDAL KEY CLIP W/ SCREW
DWSP1200 DELTA II FOOTBOARD

DWSP1201 DELTA II HEEL CASTING

DWSP1202 DELTA IT ACCELERATOR SPROCKET W/SCREW
DWSP1203 DELTA IT TURBO SPROCKET W/SCREW
DWSM1204 5000/7000 DOUBLE CHAIN W/LINK

DWSP1206 DELTA II CHAIN CLIP & PIN

DWSM1207 DELTA II HINGE

DWSP1210 DELTA II ROCKER

DWSP1303 BEATER HUB W/MEMORY LOCK COMPLETE, BLACK

** DWSP731 SET SCREW FOR SPROCKET/BEATER HUB - PLEASE NOTE
OLDER PEDALS WILL HAVE A KEYSCREW.




